KTM - 910001601300

2024 350 XC-F 2024 <2024><US><F8275X0>
2024 250 XC 2024 <2024><US><F6375X5>
2024 350 SX-F 2024 <2024><US><F8275X5>
2024 350 SX-F 2024 <2024><EU><F8201X5>
2024 450 SX-F 2024 <2024><US><F8475X5>
2024 300 XC 2024 <2024><US><F6475X5>
2024 250 SX 2024 <2024><EU><F6301X0>
2024 250 SX-F 2024 <2024><US><F8175X5>
2024 125 SX 2024 <2024><EU><F6101X0>
2024 450 SX-F 2024 <2024><EU><F8401X5>
2024 250 XC-F 2024 <2024><US><F8175X0>
2024 250 SX-F 2024 <2024><EU><F8101X5>
2024 450 XC-F 2024 <2024><US><F8475X0>
2024 125 XC 2024 <2024><US><F6175X3>
2024 300 SX 2024 <2024><F6401X1>

2023 250 XC 2023 <2023><US><F6375W5>
2023 125 XC 2023 <2023><US><F6175W3>

us
us
us
EU
us
us
EU
us
EU
EU
us
EU
us
us

us
us

2023 450 SX-F FACTORY EDITION 2023 <2023><lUS

2023 250 SX-F 2023 <2023><US><F8175W5>
2023 125 SX 2023 <2023><EU><F6101W0>
2023 250 SX 2023 <2023><EU><F6301W0>
2023 350 XC-F 2023 <2023><US><F8275W0>
2023 300 SX 2023 <2023><EU><F6401W1>
2023 350 SX-F 2023 <2023><EU><F8201W5>
2023 450 SMR 2023 <2023><EU><F8403W0>
2023 450 SX-F 2023 <2023><EU><F8401W5>
2023 450 XC-F 2023 <2023><US><F8475W0>
2023 350 SX-F 2023 <2023><US><F8275W5>
2023 250 XC-F 2023 <2023><US><F8175W0>
2023 350 SX-F IKD 2023 <2023><F8242W5>
2023 300 XC 2023 <2023><US><F6475W5>
2023 250 SX-F 2023 <2023><EU><F8101W5>
2023 450 SX-F 2023 <2023><US><F8475W5>

us
EU
EU
us
EU
EU
EU
EU
us
us
us

us
EU
us

PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING

910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300

Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19

Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame




2023 250 SX-F CKD 2023 <2023><F8140W5> PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2023 350 XC-F FACTORY EDITION 2023 <2023><lUS PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2022 450 SX-F FACTORY EDITION 2022 <2022><lUS PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2022 250 SX-F FACTORY EDITION 2022 <2022><lUS PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame

2024 350 XC-F 2024 <2024><US><F8275X0> us PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 250 XC 2024 <2024><US><F6375X5> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 350 SX-F 2024 <2024><US><F8275X5> us PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 350 SX-F 2024 <2024><EU><F8201X5> EU PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 350 XC-F 2024 <2024><US><F8275X0> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 250 XC 2024 <2024><US><F6375X5> us PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 450 SX-F 2024 <2024><US><F8475X5> us PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 250 SX-F 2024 <2024><US><F8175X5> us PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 350 SX-F 2024 <2024><US><F8275X5> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 300 XC 2024 <2024><US><F6475X5> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 450 SX-F 2024 <2024><US><F8475X5> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 350 SX-F 2024 <2024><EU><F8201X5> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 250 SX 2024 <2024><EU><F6301X0> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 300 XC 2024 <2024><US><F6475X5> us PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 125 SX 2024 <2024><EU><F6101X0> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 250 SX-F 2024 <2024><US><F8175X5> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame

WS=19 03



2024 250 SX 2024 <2024><EU><F6301X0>

2024 450 SX-F 2024 <2024><EU><F8401X5>

2024 125 SX 2024 <2024><EU><F6101X0>

2024 250 XC-F 2024 <2024><US><F8175X0>

2024 450 SX-F 2024 <2024><EU><F8401X5>

2024 450 XC-F 2024 <2024><US><F8475X0>

2024 250 SX-F 2024 <2024><EU><F8101X5>

2024 250 XC-F 2024 <2024><US><F8175X0>

2024 250 SX-F 2024 <2024><EU><F8101X5>

2024 450 XC-F 2024 <2024><US><F8475X0>

2024 125 XC 2024 <2024><US><F6175X3>

2024 300 SX 2024 <2024><F6401X1>

2024 125 XC 2024 <2024><US><F6175X3>

2024 300 SX 2024 <2024><F6401X1>

2023 250 XC 2023 <2023><US><F6375W5>

2023 125 XC 2023 <2023><US><F6175W3>

2023 350 EXC-F SIX DAYS CKD 2023 <2023><F82

EU

EU

EU

us

EU

us

EU

us

EU

us

us

us

us

us

2023 300 EXC CKD 2023 <2023><BR><F7440W6> BR

2023 300 XC-W 2023 <2023><US><F7475W3>

us

PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 250 SX 2023 <2023><EU><F6301W0> EU

2023 350 XC-F 2023 <2023><US><F8275W0> us

2023 250 EXC-F CKD 2023 <2023><BR><F8140W'!BR

2023 250 XC 2023 <2023><US><F6375W5> us

2023 125 XC 2023 <2023><US><F6175W3> us

2023 450 SX-F FACTORY EDITION 2023 <2023><lUS

2023 250 EXC SIX DAYS 2023 <2023><EU><F730: EU

2023 500 EXC-F SIX DAYS 2023 <2023><EU><F8{EU

2023 250 SX 2023 <2023><EU><F6301W0> EU

2023 350 XC-F 2023 <2023><US><F8275W0> us

2023 450 XC-F 2023 <2023><US><F8475W0> us

2023 250 EXC-F 2023 <2023><EU><F8103W9> EU

2023 500 EXC-F 2023 <2023><US><F8575W9> US

2023 450 SX-F FACTORY EDITION 2023 <2023><lUS

2023 500 EXC-F 2023 <2023><EU><F8503W9> EU

2023 350 EXC-F CKD 2023 <2023><BR><F8240W'BR

2023 350 SX-F 2023 <2023><US><F8275W5> us

2023 300 EXC 2023 <2023><EU><F7403W7> EU

2023 450 XC-F 2023 <2023><US><F8475W0> us

PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 450 EXC-F SIX DAYS 2023 <2023><EU><F8<EU

2023 450 SMR 2023 <2023><EU><F8403W0> EU

2023 150 EXC 2023 <2023><EU><F7103W6> EU

2023 250 SX-F 2023 <2023><US><F8175W5> us

2023 125 SX 2023 <2023><EU><F6101W0> EU

2023 350 SX-F 2023 <2023><US><F8275W5> us

2023 500 EXC-F SIX DAYS 2023 <2023><US><F8f US

2023 250 XC-F 2023 <2023><US><F8175W0> us

2023 300 EXC SIX DAYS CKD 2023 <2023><CN><CN

2023 450 SMR 2023 <2023><EU><F8403W0> EU

2023 350 EXC-F SIX DAYS 2023 <2023><EU><F8Z EU

2023 250 SX-F 2023 <2023><US><F8175W5> us

2023 125 SX 2023 <2023><EU><F6101W0> EU

2023 300 XC 2023 <2023><US><F6475W5> us

2023 RC 8C 2023 <2023><F9799W9>

2023 250 XC-F 2023 <2023><US><F8175W0> us

2023 350 EXC-F SIX DAYS 2023 <2023><F8288W:

2023 250 XC-W 2023 <2023><US><F7375W4> us

2023 350 EXC-F SIX DAYS CKD 2023 <2023><F82

SWING ARM

PRO LEVER LINKING

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 300 SX 2023 <2023><EU><F6401W1> EU

2023 300 EXC ERZBERGRODEO 2023 <2023><El EU

2023 300 XC 2023 <2023><US><F6475W5> us

2023 150 XC-W 2023 <2023><US><F7175W3> us

2023 300 SX 2023 <2023><EU><F6401W1> EU

2023 350 SX-F 2023 <2023><EU><F8201W5> EU

2023 250 SX-F 2023 <2023><EU><F8101W5> EU

2023 450 SX-F 2023 <2023><EU><F8401W5> EU

2023 250 EXC-F SIX DAYS 2023 <2023><EU><F8EU

2023 300 XC-W ERZBERGRODEO 2023 <2023><L US

2023 450 EXC-F 2023 <2023><EU><F8403W9> EU

2023 450 SX-F 2023 <2023><EU><F8401W5> EU

2023 350 EXC-F IKD 2023 <2023><AR><F8242W9 AR

2023 350 SX-F 2023 <2023><EU><F8201W5> EU

2023 250 SX-F 2023 <2023><EU><F8101W5> EU

2023 350 EXC-F 2023 <2023><US><F8275W9> US

2023 KTM 450 RALLY REPLICA 2023 <2023><F93!

2023 250 EXC 2023 <2023><EU><F7303W7> EU

2023 450 SX-F 2023 <2023><US><F8475W5> us

SWING ARM 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
PRO LEVER LINKING 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000
SWING ARM 54804038000

PRO LEVER LINKING 54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 300 EXC SIX DAYS 2023 <2023><EU><F740: EU

2023 KTM 450 RALLY REPLICA 2023 <2023><F93!

2023 350 SX-F IKD 2023 <2023><F8242W5>

2023 450 SX-F 2023 <2023><US><F8475W5> us

2023 350 SX-F IKD 2023 <2023><F8242W5>

2023 350 EXC-F 2023 <2023><EU><F8203W9> EU

2023 450 XCF-W 2023 <2023><US><F8475W2> US

2023 250 SX-F CKD 2023 <2023><F8140W5>

2023 250 SX-F CKD 2023 <2023><F8140W5>

2023 350 XC-F FACTORY EDITION 2023 <2023><lUS

2023 350 XC-F FACTORY EDITION 2023 <2023><lUS

2022 350 EXC-F FACTORY EDITION 2022 <2022>:EU

2022 450 SMR 2022 <2022><EU><F8403V0> EU

2022 350 XC-F FACTORY EDITION 2022 <2022><|US

2022 300 XC-W TPl ERZBERGRODEO 2022 <202z US

2022 250 SX 2022 <2022><EU><F6301V0> EU

2022 500 EXC-F SIX DAYS 2022 <2022><EU><F8:EU

2022 250 EXC SIX DAYS TPI 2022 <2022><EU><F EU

2022 150 XC-W TPI 2022 <2022><US><F7175V3> US

SWING ARM

FRAME

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2022 350 EXC-F SIX DAYS 2022 <2022><ASEAN> ASEAN SWING ARM

2022 300 XC TPI 2022 <2022><US><F6475V5>  US

2022 350 EXC-F SIX DAYS 2022 <2022><EU><F8Z EU

2022 350 EXC-F 2022 <2022><US><F8275V9> us

2022 RC 8C 2022 <2022><EU><F9799V9> EU

2022 350 EXC-F SIX DAYS CKD 2022 <2022><CN: CN

2022 450 XC-F 2022 <2022><US><F8475V0> us

2022 450 RALLY FACTORY REPLICA 2022 <2022> EU

2022 350 XC-F 2022 <2022><US><F8275V0> us

2022 250 XC-F 2022 <2022><US><F8175V0> us

2022 250 EXC-F 2022 <2022><EU><F8103V9> EU

2022 350 EXC-F SIX DAYS CKD 2022 <2022><BR:BR

2022 250 XC-W TPI 2022 <2022><US><F7375V4> US

2022 250 SX-F FACTORY EDITION 2022 <2022><\ US

2022 300 EXC SIX DAYS TPI 2022 <2022><EU><F EU

2022 450 RALLY FACTORY REPLICA 2022 <2022> EU

2022 350 XCF-W 2022 <2022><US><F8275V1> US

2022 450 SX-F 2022 <2022><US><F8475V5> us

2022 450 EXC-F SIX DAYS 2022 <2022><EU><F8<EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2022 450 SX-F 2022 <2022><EU><F8401V5> EU

2022 125 SX 2022 <2022><EU><F6101V0> EU

2022 250 SX-F FACTORY EDITION 2022 <2022><\ US

2022 250 XC TPl 2022 <2022><US><F6375V5>  US

2022 125 XC 2022 <2022><US><F6175V3> us

2022 350 EXC-F CKD 2022 <2022><BR><F8240V¢ BR

2022 450 SX-F FACTORY EDITION 2022 <2022><l US

2022 300 EXC TPI 2022 <2022><EU><F7403V7> EU

2022 300 EXC CKD 2022 <2022><BR><F7440V6> BR

2022 300 EXC SIX DAYS TPI 2022 <2022><ASEAN ASEAN

2022 350 SX-F 2022 <2022><EU><F8201V5> EU

2022 500 EXC-F SIX DAYS 2022 <2022><US><F8fUS

2022 250 EXC TPI 2022 <2022><EU><F7303V7> EU

2022 300 EXC TPI ERZBERGRODEO 2022 <2022> EU

2022 450 SX-F FACTORY EDITION 2022 <2022><\ US

2022 450 EXC-F 2022 <2022><EU><F8403V9> EU

2022 350 EXC-F IKD 2022 <2022><AR><F8242V9: AR

2022 500 EXC-F 2022 <2022><US><F8575V9> us

2022 500 EXC-F 2022 <2022><EU><F8503V9> EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2022

2022

2022

2022

2022

2022

2022

2022

2022

2022

2021

2021

2021

2021

2021

2021

2021

2021

2021

250 SX-F 2022 <2022><F8101V5>

300 XC-W TPI 2022 <2022><US><F7475V3> US

150 EXC TPI 2022 <2022><EU><F7103V6> EU

150 SX 2022 <2022><EU><F6101V1> EU

350 SX-F 2022 <2022><US><F8275V5> us

300 EXC SIX DAYS TPI CKD 2022 <2022><C CN

500 XCF-W 2022 <2022><US><F8575V1>  US

250 SX-F 2022 <2022><US><F8175V5> us

350 EXC-F 2022 <2022><EU><F8203V9> EU

250 EXC-F SIX DAYS 2022 <2022><EU><F8" EU

350 EXC-F SIX DAYS CKD 2021 <2021><BR:BR

450 SX-F 2021 <2021><EU><F8401U5> EU

150 XC-W TPI 2021 <2021><US><F7175U3> US

450 XC-F 2021 <2021><US><F8475U0> us

350 XC-F 2021 <2021><US><F8275U0> us

250 SX-F 2021 <2021><US><F8175U5> us

250 XC-W TPI 2021 <2021><US><F7375U4> US

450 EXC-F SIX DAYS 2021 <2021><EU><F8<EU

300 EXC TPI 2021 <2021><EU><F7403U7> EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

300 EXC CKD 2021 <2021><EU><F7440U6> EU

250 SX-F 2021 <2021><EU><F8101U5> EU
500 XCF-W 2021 <2021><US><F8575U1> US
350 XCF-W 2021 <2021><US><F8275U1> US
350 EXC-F 2021 <2021><EU><F8203U9> EU
350 SX-F 2021 <2021><US><F8275U5> us
300 EXC SIX DAYS TPI CKD 2021 <2021><C CN
150 SX 2021 <2021><EU><F6101U1> EU
300 XC-W TPI 2021 <2021><US><F7475U3> US
350 XC-F KAILUB RUSSELL 2021 <2021><U:US
250 EXC-F SIX DAYS 2021 <2021><EU><F8" EU
125 §X 2021 <2021><EU><F6101U0> EU
350 EXC-F 2021 <2021><US><F8275U9> us
125 XC 2021 <2021><US><F6175U3> us
500 EXC-F 2021 <2021><US><F8575U9> us

450 RALLY FACTORY REPLICA 2021 <2021>EU

350 EXC-F WESS 2021 <2021><EU><F8203| EU

300 EXC TPI ERZBERGRODEO 2021 <2021=EU

150 EXC TPI 2021 <2021><EU><F7103U6> EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

450 RALLY FACTORY REPLICA 2021 <2021> EU

250 EXC TPI 2021 <2021><EU><F7303U7> EU

250 EXC SIX DAYS TPI 2021 <2021><EU><F EU

350 EXC-F SIX DAYS CKD 2021 <2021><CN:CN

450 SX-F 2021 <2021><US><F8475U5> us

300 EXC SIX DAYS TPI 2021 <2021><EU><F EU

250 EXC-F 2021 <2021><EU><F8103U9> EU

250 SX-F TROY LEE DESIGNS 2021 <2021><EU

450 SMR 2021 <2021><EU><F8403U0> EU

300 XC TPI 2021 <2021><US><F6475U5> US

450 SX-F FACTORY EDITION 2021 <2021><lUS

250 XC TPI 2021 <2021><US><F6375U5>  US

500 EXC-F SIX DAYS 2021 <2021><EU><F8{EU

350 SX-F 2021 <2021><EU><F8201U5> EU

350 EXC-F CKD 2021 <2021><BR><F8240U¢BR

300 XC-W TPl ERZBERGRODEO 2021 <202 US

500 EXC-F 2021 <2021><EU><F8503U9> EU

500 EXC-F SIX DAYS 2021 <2021><US><F8f US

250 XC-F 2021 <2021><US><F8175U0> us

FRAME

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2021 450 EXC-F 2021 <2021><EU><F8403U9> EU
2021 350 EXC-F SIX DAYS 2021 <2021><EU><F8Z EU
2021 250 SX 2021 <2021><EU><F6301U0> EU
2020 300 XC TPI 2020 <2020><US><F6475T5>  US
2020 250 SX 2020 <2020><US><F6375T0> us
2020 450 SX-F Factory Edition 2020 <2020><US>< US
2020 500 EXC-F Six Days 2020 <2020><EU><F85( EU
2020 450 EXC-F Six Days 2020 <2020><EU><F84( EU
2020 250 EXC-F Six Days 2020 <2020><EU><F81(EU
2020 250 SX-F PRADO 2020 <2020><EU><F81011EU
2020 450 EXC-F 2020 <2020><EU><F8403T9> EU
2020 350 XCF-W 2020 <2020><US><F8275T1> US
2020 150 XC-W TPI 2020 <2020><US><F7175T3> US
2020 250 SX-F 2020 <2020><US><F8175T5> us
2020 300 EXC Six Days TPl 2020 <2020><EU><F7 EU
2020 150 SX 2020 <2020><US><F6175T1> us
2020 250 EXC Six Days TPI 2020 <2020><EU><F7 EU
2020 500 EXC-F 2020 <2020><EU><F8503T9> EU

2020 450 RALLY Factory Replica 2020 <2020><F9:

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2020 300 EXC CKD 2020 <2020><BR><F7440T6> BR
2020 150 EXC TPI 2020 <2020><EU><F7103T6> EU
2020 350 EXC-F CKD 2020 <2020><BR><F8240T¢ BR
2020 500 EXC-F 2020 <2020><US><F8575T9> us
2020 300 XC-W TPI 2020 <2020><US><F7475T3> US
2020 450 XC-F 2020 <2020><US><F8475T0> us
2020 500 XCF-W 2020 <2020><US><F8575T1> US
2020 450 RALLY Factory Replica 2020 <2020><F9:

2020 250 EXC TPI 2020 <2020><EU><F7303T7> EU
2020 350 EXC-F 2020 <2020><EU><F8203T9> EU
2020 300 XC-W TPl ERZBERGRODEO 2020 <202(US
2020 150 SX 2020 <2020><EU><F6101T1> EU
2020 350 XC-F 2020 <2020><US><F8275T0> us
2020 300 XC-W Six Days TPI 2020 <2020><US><F US
2020 250 XC-F 2020 <2020><US><F8175T0> us
2020 350 SX-F 2020 <2020><EU><F8201T5> EU
2020 250 EXC-F CKD 2020 <2020><BR><F8140TS¢ BR
2020 250 SX-F 2020 <2020><EU><F8101T5> EU

2020 500 EXC-F Six Days 2020 <2020><US><F857US

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2020 250 XC-W TPI 2020 <2020><US><F7375T4> US
2020 300 EXC TPI 2020 <2020><EU><F7403T7> EU
2020 450 SX-F CAIROLI 2020 <2020><EU><F8401EU
2020 350 SX-F 2020 <2020><US><F8275T5> us
2020 450 SX-F 2020 <2020><US><F8475T5> us
2020 350 EXC-F Six Days CKD 2020 <2020><BR><BR
2020 350 EXC-F 2020 <2020><US><F8275T9> us
2020 125 SX 2020 <2020><US><F6175T0> us
2020 450 SX-F 2020 <2020><EU><F8401T5> EU
2020 250 EXC-F 2020 <2020><EU><F8103T9> EU
2020 125 SX 2020 <2020><EU><F6101T0> EU
2020 350 EXC-F Six Days 2020 <2020><EU><F82( EU
2020 250 SX 2020 <2020><EU><F6301T0> EU
2020 300 EXC TPI ERZBERGRODEO 2020 <2020 EU
2020 250 XC TPI 2020 <2020><US><F6375T5> US
2019 450 SX-F 2019 <2019><US><F8475S5> us
2019 250 SX 2019 <2019><EU><F6301S0> EU
2019 250 XC 2019 <2019><US><F6375S5> us

2019 350 EXC-F CKD 2019 <2019><BR><F8240S¢ BR

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2019 350 EXC-F 2019 <2019><EU><F8203S9> EU
2019 125 SX 2019 <2019><EU><F6101S0> EU
2019 450 EXC-F Six Days 2019 <2019><EU><F84( EU
2019 250 EXC TPI 2019 <2019><EU><F7303S7> EU
2019 250 EXC-F 2019 <2019><US><F8175S9> us
2019 250 XC-F 2019 <2019><US><F8175S0> us
2019 250 EXC-F Six Days 2019 <2019><EU><F81(EU
2019 500 EXC-F 2019 <2019><US><F8575S9> us
2019 350 EXC-F Six Days 2019 <2019><EU><F82( EU
2019 500 EXC-F Six Days 2019 <2019><EU><F85( EU
2019 250 EXC-F 2019 <2019><AU><F8160S9> AU
2019 350 EXC-F 2019 <2019><AU><F8260S9> AU
2019 150 SX 2019 <2019><EU><F6101S1> EU
2019 500 EXC-F 2019 <2019><AU><F8560S9> AU
2019 250 EXC Six Days TPI 2019 <2019><EU><F7 EU
2019 125 XC-W 2019 <2019><EU><F7103S3> EU
2019 250 EXC-F CKD 2019 <2019><AR><F8142S¢ AR
2019 250 SX-F 2019 <2019><US><F8175S5> us

2019 300 EXC TPI 2019 <2019><EU><F7403S7> EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2019 300 XC-W Six Days TP1 2019 <2019><US><F US
2019 350 SX-F 2019 <2019><EU><F8201S5> EU
2019 350 SX-F 2019 <2019><US><F8275S5> us
2019 250 SX 2019 <2019><US><F6375S0> us
2019 350 XC-F 2019 <2019><US><F8275S0> us
2019 450 EXC-F Six Days 2019 <2019><US><F847US
2019 350 EXC-F Six Days CKD 2019 <2019><BR><BR
2019 300 EXC Six Days TPI 2019 <2019><EU><F7 EU
2019 450 SX-F FACTORY EDITION 2019 <2019><lUS
2019 350 EXC-F 2019 <2019><US><F8275S9> us
2019 690 Duke, orange 2019 <2019><US><F9775S US
2019 450 RALLY Factory Replica 2019 <2019><F9¢

2019 150 XC-W 2019 <2019><US><F7175S3> us
2019 450 RALLY Factory Replica 2019 <2019><F9¢

2019 500 EXC-F 2019 <2019><EU><F8503S9> EU
2019 250 XC-W TPI 2019 <2019><US><F7375S4> US
2019 300 EXC CKD 2019 <2019><BR><F7440S6> BR

2019 250 EXC-F CKD 2019 <2019><BR><F8140S¢ BR

2019 150 SX 2019 <2019><US><F6175S1> us

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2019 300 XC 2019 <2019><US><F6475S5> us
2019 450 SX-F 2019 <2019><EU><F8401S5> EU
2019 250 SX-F 2019 <2019><EU><F8101S5> EU
2019 125 SX 2019 <2019><US><F6175S0> us
2019 250 EXC-F 2019 <2019><EU><F8103S9> EU
2019 450 XC-F 2019 <2019><US><F8475S0> us
2019 450 EXC-F 2019 <2019><EU><F8403S9> EU
2019 300 XC-W TPI 2019 <2019><US><F7475S3> US
2019 690 Duke, orange 2019 <2019><EU><F9703S EU
2019 450 EXC-F 2019 <2019><AU><F8460S9> AU
2019 450 SX-F HERLINGS REPLICA 2019 <2019><EU
2018 690 Duke, orange 2018 <2018><EU><F9703F EU
2018 250 XC-W TPI 2018 <2018><US><F7375R4> US
2018 250 EXC Six Days TPI 2018 <2018><EU><F7 EU
2018 500 EXC-F 2018 <2018><US><F8575R9>  US
2018 150 SX 2018 <2018><US><F6175R1> us
2018 350 EXC-F 2018 <2018><US><F8275R9>  US
2018 350 EXC-F Six Days CKD 2018 <2018><BR><BR

2018 350 SX-F 2018 <2018><EU><F8201R5> EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2018 300 XC 2018 <2018><US><F6475R5> us
2018 150 SX 2018 <2018><EU><F6101R1> EU
2018 125 XC-W 2018 <2018><EU><F7103R3> EU
2018 690 Duke, orange 2018 <2018><US><F9775F US
2018 125 SX 2018 <2018><EU><F6101R0> EU
2018 300 EXC Six Days TPl 2018 <2018><EU><F7 EU
2018 500 EXC-F 2018 <2018><AU><F8560R9> AU
2018 450 EXC-F 2018 <2018><AU><F8460R9> AU
2018 450 SX-F 2018 <2018><US><F8475R5> us
2018 300 XC-W 2018 <2018><US><F7475R3> us
2018 250 XC-W 2018 <2018><US><F7375R3> us
2018 500 EXC-F 2018 <2018><EU><F8503R9> EU
2018 450 SX-F Factory Edition 2018 <2018><US>< US
2018 350 EXC-F Six Days 2018 <2018><EU><F82( EU
2018 450 RALLY Factory Replica 2018 <2018><EU: EU
2018 250 EXC-F CKD 2018 <2018><BR><F8140R¢BR
2018 250 EXC-F Six Days 2018 <2018><EU><F81( EU
2018 300 EXC 2018 <2018><AU><F7460R6> AU

2018 500 EXC-F Six Days 2018 <2018><EU><F85( EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2018 250 XC 2018 <2018><US><F6375R5> us
2018 450 SX-F 2018 <2018><EU><F8401R5> EU
2018 350 EXC-F 2018 <2018><AU><F8260R9> AU
2018 450 RALLY Factory Replica 2018 <2018><EU: EU
2018 250 EXC-F 2018 <2018><US><F8175R9>  US
2018 350 EXC-F 2018 <2018><EU><F8203R9> EU
2018 300 EXC TPI 2018 <2018><EU><F7403R7> EU
2018 250 XC-F 2018 <2018><US><F8175R0> us
2018 300 XC-W Six Days 2018 <2018><US><F747:US
2018 450 EXC-F Six Days 2018 <2018><US><F847US
2018 350 XC-F 2018 <2018><US><F8275R0> us
2018 250 SX-F 2018 <2018><EU><F8101R5> EU
2018 250 SX 2018 <2018><US><F6375R0> us
2018 250 EXC-F CKD 2018 <2018><AR><F8142R¢ AR
2018 250 EXC-F 2018 <2018><EU><F8103R9> EU
2018 450 EXC-F Six Days 2018 <2018><EU><F84( EU
2018 350 EXC-F CKD 2018 <2018><BR><F8240R¢BR
2018 350 SX-F 2018 <2018><US><F8275R5> us

2018 250 EXC TPI 2018 <2018><EU><F7303R7> EU

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2018 150 XC-W 2018 <2018><US><F7175R3> us

2018 250 SX 2018 <2018><EU><F6301R0> EU

2018 125 SX 2018 <2018><US><F6175R0> us

2018 250 EXC 2018 <2018><AU><F7360R6> AU

2018 690 Duke, white 2018 <2018><US><F9775R3 US

2018 450 EXC-F 2018 <2018><EU><F8403R9> EU

2018 300 EXC CKD 2018 <2018><BR><F7440R6> BR

2018 450 XC-F 2018 <2018><US><F8475R0> us

2018 250 SX-F 2018 <2018><US><F8175R5> us

2018 250 EXC-F 2018 <2018><AU><F8160R9> AU

2017 250 SX-F FACTORY EDITION 2017 <2017><lUS

2017 690 DUKE ORANGE 2017 <2017><CN><F97:CN

2017 690 DUKE ORANGE 2017 <2017><US><F97 US

2017 350 EXC-F CKD 2017 <2017><BR><F8240Q¢ BR

2017 125 XC-W 2017 <2017><EU><F7103Q3> EU

2017 125 SX 2017 <2017><US><F6175Q0> us

2017 300 XC 2017 <2017><US><F6475Q5> us

2017 250 EXC SIX-DAYS 2017 <2017><EU><F730 EU

2017 350 EXC-F 2017 <2017><US><F8275Q9> US

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2017 250 EXC-F 2017 <2017><EU><F8103Q9> EU

2017 350 EXC-F 2017 <2017><EU><F8203Q9> EU

2017 690 DUKE WHITE 2017 <2017><US><F9775(US

2017 690 DUKE ORANGE 2017 <2017><EU><F97(EU

2017 450 EXC-F SIX DAYS 2017 <2017><EU><F84EU

2017 250 SX-F 2017 <2017><US><F8175Q5> us

2017 500 EXC-F 2017 <2017><EU><F8503Q9> EU

2017 300 EXC 2017 <2017><AU><F7460Q6> AU

2017 690 DUKE WHITE 2017 <2017><EU><F9703(EU

2017 150 SX 2017 <2017><US><F6175Q1> us

2017 250 XC 2017 <2017><US><F6375Q5> us

2017 150 XC-W 2017 <2017><US><F7175Q3> us

2017 450 EXC-F 2017 <2017><AU><F8460Q9> AU

2017 300 XC-W 2017 <2017><US><F7475Q3> us

2017 250 SX 2017 <2017><US><F6375Q0> us

2017 300 XC-W SIX DAYS 2017 <2017><US><F74 US

2017 250 XC-W 2017 <2017><US><F7375Q3> us

2017 500 EXC-F 2017 <2017><US><F8575Q9>  US

2017 450 SX-F FACTORY EDITION 2017 <2017><lUS

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2017 250 EXC 2017 <2017><AU><F7360Q6> AU

2017 450 EXC-F 2017 <2017><EU><F8403Q9> EU

2017 350 XC-F 2017 <2017><US><F8275Q0> us

2017 150 SX 2017 <2017><EU><F6101Q1> EU

2017 450 EXC-F SIX DAYS 2017 <2017><US><F84US

2017 350 EXC-F SIX DAYS 2017 <2017><EU><F8ZEU

2017 500 EXC-F SIX DAYS 2017 <2017><EU><F8fEU

2017 450 XC- F 2017 <2017><US><F8475Q0> us

2017 250 EXC 2017 <2017><EU><F7303Q6> EU

2017 350 EXC-F 2017 <2017><AU><F8260Q9> AU

2017 125 SX 2017 <2017><EU><F6101Q0> EU

2017 350 SX-F 2017 <2017><US><F8275Q5> us

2017 250 EXC-F 2017 <2017><AU><F8160Q9> AU

2017 690 DUKE R 2017 <2017><EU><F9703Q1> EU

2017 250 EXC-F CKD 2017 <2017><BR><F8140Q¢BR

2017 450 SX-F 2017 <2017><EU><F8401Q5> EU

2017 450 SX-F 2017 <2017><US><F8475Q5> us

2017 300 EXC SIX-DAYS 2017 <2017><EU><F740 EU

2017 250 EXC-F SIX DAYS 2017 <2017><EU><F8" EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2017 300 EXC 2017 <2017><EU><F7403Q6> EU

2017 350 SX-F 2017 <2017><EU><F8201Q5> EU

2017 250 SX 2017 <2017><EU><F6301Q0> EU

2017 250 XC-F 2017 <2017><US><F8175Q0> us

2017 500 EXC-F 2017 <2017><AU><F8560Q9> AU

2017 250 EXC-F 2017 <2017><US><F8175Q9> US

2017 300 EXC CKD 2017 <2017><BR><F7440Q6> BR

2017 250 SX-F 2017 <2017><EU><F8101Q5> EU

2016 690 DUKE R ABS 2016 <2016><AU><F9760F AU

2016 690 DUKE ORANGE ABS 2016 <2016><EU><EU

2016 125 EXC 2016 <2016><EU><F7103P6> EU

2016 250 EXC-F 2016 <2016><EU><F8103P9> EU

2016 690 DUKE WHITE ABS 2016 <2016><EU><F{EU

2016 450 EXC 2016 <2016><AU><F8460P9> AU

2016 150 SX 2016 <2016><EU><F6101P1> EU

2016 450 SX-F 2016 <2016><EU><F8401P5> EU

2016 125 SX 2016 <2016><US><F6175P0> us

2016 250 SX-F FACTORY EDITION 2016 <2016><lUS

2016 300 XC-W 2016 <2016><US><F7475P3> us

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2016 250 SX 2016 <2016><US><F6375P0>

us

2016 690 DUKE WHITE ABS 2016 <2016><US><F{US

2016 200 EXC 2016 <2016><EU><F7203P6>

2016 350 SX-F 2016 <2016><US><F8275P5>

2016 250 XC 2016 <2016><EU, US><F6375P5>

2016 250 SX-F 2016 <2016><EU><F8101P5>

EU

us

EU, US

EU

2016 350 EXC-F CKD 2016 <2016><BR><F8240P¢BR

2016 300 EXC SIX-DAYS 2016 <2016><EU><F740 EU

2016 690 DUKE R ABS 2016 <2016><EU><F9703F EU

2016 450 SX-F FACTORY EDITION 2016 <2016><lUS

2016 125 SX 2016 <2016><EU><F6101P0>

2016 250 XC-F 2016 <2016><US><F8175P0>

2016 450 SX-F 2016 <2016><US><F8475P5>

2016 350 SX-F 2016 <2016><EU><F8201P5>

2016 250 SX 2016 <2016><EU><F6301P0>

2016 250 SX-F 2016 <2016><US><F8175P5>

2016 350 EXC-F 2016 <2016><EU><F8203P9>

2016 450 XC- F 2016 <2016><US><F8475P0>

2016 450 EXC 2016 <2016><EU><F8403P9>

EU

us

us

EU

EU

us

EU

us

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2016 250 EXC SIX-DAYS 2016 <2016><EU><F730 EU

2016 350 XCF-W SIX DAYS 2016 <2016><US><F8 US

2016 250 EXC-F CKD 2016 <2016><BR><F8140P¢ BR

2016 500 EXC SIX DAYS 2016 <2016><EU><F850: EU

2016 350 XCF-W 2016 <2016><US><F8275P3> US

2016 250 XCF-W 2016 <2016><US><F8175P3> US

2016 150 SX 2016 <2016><US><F6175P1> us

2016 350 EXC-F 2016 <2016><US><F8275P9> us

2016 350 EXC-F SIX DAYS 2016 <2016><EU><F8ZEU

2016 690 DUKE ORANGE ABS 2016 <2016><US><US

2016 690 DUKE ORANGE ABS 2016 <2016><AU><AU

2016 250 EXC-F 2016 <2016><AU><F8160P9> AU

2016 300 XC-W SIX DAYS 2016 <2016><US><F74 US

2016 250 EXC 2016 <2016><AU><F7360P6> AU

2016 250 XC-W 2016 <2016><US><F7375P3> us

2016 300 EXC CKD 2016 <2016><BR><F7440P6> BR

2016 300 XC 2016 <2016><EU, US><F6475P5> EU, US

2016 250 EXC-F SIX DAYS 2016 <2016><EU><F8"EU

2016 350 EXC-F 2016 <2016><AU><F8260P9> AU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2016 450 XC-W 2016 <2016><US><F8475P3>

us

2016 690 DUKE ORANGE ABS 2016 <2016><CN><CN

2016 300 EXC 2016 <2016><EU><F7403P6>

2016 500 EXC 2016 <2016><US><F8575P9>

2016 350 XC-F 2016 <2016><US><F8275P0>

2016 500 EXC 2016 <2016><AU><F8560P9>

EU

us

us

AU

2016 450 EXC SIX DAYS 2016 <2016><EU><F840: EU

2016 125 EXC SIX-DAYS 2016 <2016><EU><F710 EU

2016 300 EXC 2016 <2016><AU><F7460P6>

AU

2016 500 EXC SIX DAYS 2016 <2016><US><F857!US

2016 500 EXC 2016 <2016><EU><F8503P9>

2016 250 EXC 2016 <2016><EU><F7303P6>

2016 500 XC-W 2016 <2016><US><F8575P3>

2016 200 XC-W 2016 <2016><US><F7275P3>

2016 200 EXC 2016 <2016><AU><F7260P6>

Husqvarna - 910001601300

2024 TC 250 2024 <2024><F2301X1>
2024 TC 125 2024 <2024><F2101X0>
2024 FX 350 2024 <2024><F2201X6>
2024 FS 450 2024 <2024><EU><F2303X0>
2024 FC 350 2024 <2024><US><F2275X1>
2024 FC 450 2024 <2024><US><F2475X2>

EU

EU

us

us

AU

EU
us
us

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5
WS=19 03

910001601300 Hex nut flange M16x1.5 SW19
910001601300 Hex nut flange M16x1.5 SW19
910001601300 Hex nut flange M16x1.5 SW19
910001601300 Hex nut flange M16x1.5 SW19
910001601300 Hex nut flange M16x1.5 SW19
910001601300 Hex nut flange M16x1.5 SW19

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame
Frame
Frame
Frame
Frame
Frame



2024 TX 300 2024 <2024><F2401X5>

2024
2024
2024
2024
2024

FC 250 2024 <2024><F2101X1>
FC 450 2024 <2024><F2401X1>
FC 250 2024 <2024><US><F2175X1> us
FC 350 2024 <2024><F2201X1>
FX 450 2024 <2024><F2301X6>

2023 TX 300 HERITAGE 2023 <2023><F2401W7>

2023
2023
2023
2023
2023

FC 450 HERITAGE 2023 <2023><F2401W2>

FC 450 ROCKSTAR EDITION 2023 <2023><U US
FX 350 BT 2023 <2023><F2201W8>

FC 350 HERITAGE 2023 <2023><US><F2275 US
FX 350 2023 <2023><F2201W6>

2023 TX 300 2023 <2023><F2401W5>

2023

FC 250 HERITAGE 2023 <2023><US><F2175 US

2023 TX 300 BT 2023 <2023><F2401W8>

2023
2023
2023
2023
2023
2023
2023
2023
2023
2023
2023

FC 450 2023 <2023><US><F2475W2> us
FC 250 HERITAGE 2023 <2023><F2101W3>
FX 450 2023 <2023><F2301W6>

FC 350 2023 <2023><US><F2275W1> us
FC 250 2023 <2023><US><F2175W1> us
FC 350 HERITAGE 2023 <2023><F2201W2>

FX 450 BT 2023 <2023><F2301W8>

FC 250 2023 <2023><F2101W1>

FC 350 2023 <2023><F2201W1>

FC 450 2023 <2023><F2401W1>

FX 350 HERITAGE BT 2023 <2023><F2201W¢

2023 TC 250 HERITAGE 2023 <2023><F2301W2>
2023 TC 250 2023 <2023><F2301W1> ‘

2023

FC 450 HERITAGE 2023 <2023><US><F2475 US

2023 TC 125 HERITAGE 2023 <2023><F2101W2>

2023

FX 350 HERITAGE 2023 <2023><F2201W5>

2023 TX 300 HERITAGE BT 2023 <2023><F2401W¢

PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
‘PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING
PRO LEVER LINKING

910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300
910001601300

Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19
Hex nut flange M16x1.5 SW19

Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame
Frame

910001601300 Hex nut flange M16x1.5 SW19 Frame
910001601300 Hex nut flange M16x1.5 SW19 Frame
910001601300 Hex nut flange M16x1.5 SW19 Frame
910001601300 Hex nut flange M16x1.5 SW19 Frame
910001601300 Hex nut flange M16x1.5 SW19 Frame



2023 FS 450 2023 <2023><EU><F2303W0> EU PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2023 TC 125 2023 <2023><F2101WO0> PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2022 FC 450 ROCKSTAR EDITION 2022 <2022><U US PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2022 FC 250 ROCKSTAR EDITION 2022 <2022><U US PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame

Husqvarna - 54804038000

2024 TC 250 2024 <2024><F2301X1> SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 TC 125 2024 <2024><F2101X0> SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FX 350 2024 <2024><F2201X6> SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 TC 125 2024 <2024><F2101X0> PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FC 350 2024 <2024><US><F2275X1> US  PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FS 450 2024 <2024><EU><F2303X0> EU  PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FX 350 2024 <2024><F2201X6> PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FS 450 2024 <2024><EU><F2303X0> EU  SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 TC 250 2024 <2024><F2301X1> PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FC 450 2024 <2024><US><F2475X2> US  SWINGARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 TX 300 2024 <2024><F2401X5> SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FC 450 2024 <2024><US><F2475X2> US  PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FC 350 2024 <2024><US><F2275X1> US  SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 FC 250 2024 <2024><F2101X1> PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2024 TX 300 2024 <2024><F2401X5> PRO LEVER LINKING 54804038000 Nut with flange M16X1,5 Frame

WS=19 03



2024 FC 250 2024 <2024><F2101X1>

2024 FC 450 2024 <2024><F2401X1>

2024 FC 250 2024 <2024><US><F2175X1> us

2024 FC 350 2024 <2024><F2201X1>

2024 FC 250 2024 <2024><US><F2175X1> us

2024 FC 450 2024 <2024><F2401X1>

2024 FX 450 2024 <2024><F2301X6>

2024 FC 350 2024 <2024><F2201X1>

2024 FX 450 2024 <2024><F2301X6>

2023 TE 150 HERITAGE 2023 <2023><EU><F2103\ EU

2023 TE 300 HERITAGE 2023 <2023><EU><F2403\ EU

2023 TE 250 CKD 2023 <2023><F2387W7>

2023 FR 450 RALLY 2023 <2023><F2399W1>

2023 FE 450 2023 <2023><US><F2375W8> us

2023 TC 125 HERITAGE 2023 <2023><F2101W2>

2023 FC 450 2023 <2023><F2401W1>

2023 FX 450 BT 2023 <2023><F2301W8>

2023 FE 350 2023 <2023><EU><F2203W4> EU

SWING ARM

SWING ARM

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 FC 450 HERITAGE 2023 <2023><F2401W2>

2023 FE 250 HERITAGE 2023 <2023><EU><F2103\ EU

2023 FR 450 RALLY 2023 <2023><F2399W1>

2023 FC 350 HERITAGE 2023 <2023><US><F2275 US

2023 TC 125 HERITAGE 2023 <2023><F2101W2>

2023 FC 450 2023 <2023><F2401W1>

2023 FX 450 BT 2023 <2023><F2301W8>

2023 TX 300 HERITAGE 2023 <2023><F2401W7>

2023 FC 450 HERITAGE 2023 <2023><F2401W2>

2023 FE 501 2023 <2023><EU><F2403W4> EU

2023 TE 300 2023 <2023><US><F2475W7> us

2023 FC 350 HERITAGE 2023 <2023><US><F2275 US

2023 FX 350 2023 <2023><F2201W6>

2023 FC 350 HERITAGE 2023 <2023><F2201W2>

2023 TE 300 2023 <2023><EU><F2403W7> EU

2023 TX 300 HERITAGE 2023 <2023><F2401W7>

2023 FE 250 2023 <2023><EU><F2103W4> EU

2023 TE 150 2023 <2023><US><F2175W9> us

SWING ARM

SWING ARM

FRAME

PRO LEVER LINKING

PRO LEVER LINKING

PRO LEVER LINKING

PRO LEVER LINKING

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 FX 350 BT 2023 <2023><F2201W8>

2023 FC 350 2023 <2023><US><F2275W1> us
2023 FX 350 2023 <2023><F2201W6>

2023 FC 350 HERITAGE 2023 <2023><F2201W2>
2023 FC 450 HERITAGE 2023 <2023><US><F2475 US
2023 TE 250 2023 <2023><US><F2375W7> us
2023 TE 150 2023 <2023><EU><F2103W9> EU
2023 FC 450 ROCKSTAR EDITION 2023 <2023><U US
2023 FX 350 BT 2023 <2023><F2201W8>

2023 FC 350 2023 <2023><US><F2275W1> us
2023 FC 250 2023 <2023><US><F2175W1> us

2023 TE 250 HERITAGE 2023 <2023><EU><F2303\ EU

2023

FC 450 HERITAGE 2023 <2023><US><F2475 US

2023 TX 300 BT 2023 <2023><F2401W8>

2023

2023

2023

2023

FC 450 2023 <2023><US><F2475W2> us

FC 450 ROCKSTAR EDITION 2023 <2023><U US

FE 450 HERITAGE 2023 <2023><EU><F2303\ EU

FE 350 2023 <2023><F2288W4>

PRO LEVER LINKING

SWING ARM

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 FC 250 2023 <2023><US><F2175W1> us

2023 TC 250 HERITAGE 2023 <2023><F2301W2>

2023 FC 250 HERITAGE 2023 <2023><US><F2175 US

2023 TX 300 BT 2023 <2023><F2401W8>

2023 FC 450 2023 <2023><US><F2475W2> us

2023 FE 350 HERITAGE 2023 <2023><EU><F2203\ EU

2023 TE 300 HERITAGE 2023 <2023><US><F2475'US

2023 FE 250 CKD 2023 <2023><F2187W4>

2023 FE 501 HERITAGE 2023 <2023><EU><F2403\ EU

2023 TC 250 HERITAGE 2023 <2023><F2301W2>

2023 FC 250 HERITAGE 2023 <2023><US><F2175 US

2023 FC 250 2023 <2023><F2101W1>

2023 FC 350 2023 <2023><F2201W1>

2023 FE 501s 2023 <2023><US><F2475W4> us

2023 FE 450 2023 <2023><EU><F2303W4> EU

2023 FC 250 2023 <2023><F2101W1>

2023 TX 300 HERITAGE BT 2023 <2023><F2401W¢

2023 TX 300 2023 <2023><F2401W5>

PRO LEVER LINKING

SWING ARM

SWING ARM

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 TC 125 2023 <2023><F2101WO0>

2023 TX 300 2023 <2023><F2401W5>

2023

FC 350 2023 <2023><F2201W1>

2023 TE 300 IKD 2023 <2023><F2442W7>

2023

2023

FX 450 2023 <2023><F2301W6>

FC 250 HERITAGE 2023 <2023><F2101W3>

2023 TX 300 HERITAGE BT 2023 <2023><F2401W¢

2023

FC 250 HERITAGE 2023 <2023><F2101W3>

2023 TC 125 2023 <2023><F2101W0>

2023 TE 250 2023 <2023><EU><F2303W7> EU

2023

FX 450 2023 <2023><F2301W6>

2023 TC 250 2023 <2023><F2301W1>

2023

FE 450 HERITAGE 2023 <2023><US><F2375\US

2023 TC 250 2023 <2023><F2301W1>

2023

2023

2023

FE 350s 2023 <2023><US><F2275W4> us

FX 350 HERITAGE 2023 <2023><F2201W5>

FX 350 HERITAGE BT 2023 <2023><F2201W¢

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023 FX 350 HERITAGE 2023 <2023><F2201W5>

2023 FX 350 HERITAGE BT 2023 <2023><F2201W¢

2023 FS 450 2023 <2023><EU><F2303W0> EU
2023 FS 450 2023 <2023><EU><F2303W0> EU
2022 FE 501 2022 <2022><US><F2475V5> us
2022 FE 350s 2022 <2022><US><F2275V4> us

2022 FE 350 ROCKSTAR EDITION 2022 <2022><El EU

2022 FE 350 2022 <2022><EU><F2203V4> EU

2022 FE 250 CKD 2022 <2022><F2187V4>

2022 TC 250 2022 <2022><EU><F2301V1> EU

2022 FE 350 2022 <2022><US><F2275V5> us

2022 FX 450 2022 <2022><F2301V6>

2022 FC 450 ROCKSTAR EDITION 2022 <2022><U US

2022 TE 250i 2022 <2022><EU><F2303V7> EU

2022 FX 350 2022 <2022><F2201V6>

2022 FR 450 RALLY 2022 <2022><F2399V1>

2022 FE 501 2022 <2022><EU><F2403V4> EU

2022 TX 300i 2022 <2022><US><F2401V5> us

PRO LEVER LINKING

PRO LEVER LINKING

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2022 TE 300i 2022 <2022><US><F2475V7> us

2022

2022

FC 250 2022 <2022><US><F2175V1> us

FC 450 ROCKSTAR EDITION 2022 <2022><U US

2022 TE 250i 2022 <2022><US><F2375V7> us

2022 TE 250i CKD 2022 <2022><F2387V7>

2022 FR 450 RALLY 2022 <2022><F2399V1>

2022 FC 450 2022 <2022><US><F2475V2> us
2022 FC 450 2022 <2022><EU><F2401V1> EU
2022 TE 300i 2022 <2022><EU><F2403V7> EU

2022 TE 300i ROCKSTAR EDITION 2022 <2022><U US

2022

2022

FE 250 2022 <2022><EU><F2103V4> EU

FE 450 2022 <2022><EU><F2303V4> EU

2022 TE 300i IKD 2022 <2022><AR><F2442V7> AR

2022

2022

FC 250 ROCKSTAR EDITION 2022 <2022><U US

FC 250 2022 <2022><EU><F2101V1> EU

2022 TC 125 2022 <2022><EU><F2101V0> EU

2022 TE 150i 2022 <2022><EU><F2103V9> EU

2022

FC 250 ROCKSTAR EDITION 2022 <2022><U US

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2022

2022

2022

2022

2022

2022

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

FE 501s 2022 <2022><US><F2475V4>

FC 350 2022 <2022><EU><F2201V1>

FC 350 2022 <2022><US><F2275V1>

FS 450 2022 <2022><EU><F2303V0>

TE 150i 2022 <2022><US><F2175V9>

us

EU

us

EU

us

TE 300i ROCKSTAR EDITION 2022 <2022><E EU

TE 150i 2021 <2021><US><F2175U9>

FC 450 2021 <2021><EU><F2401U1>

FE 450 2021 <2021><EU><F2303U4>

TE 150i 2021 <2021><EU><F2103U9>

TE 250i 2021 <2021><US><F2375U7>

FE 350 2021 <2021><US><F2275U5>

us

EU

EU

EU

us

us

TE 300i ROCKSTAR EDITION 2021 <2021><E EU

FC 350 2021 <2021><EU><F2201U1>

TC 250 2021 <2021><EU><F2301U1>

FE 501 2021 <2021><EU><F2403U4>

FS 450 2021 <2021><EU><F2303U0>

FE 250 2021 <2021><EU><F2103U4>

EU

EU

EU

EU

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

2021

TE 250i 2021 <2021><EU><F2303U7>

TE 300i 2021 <2021><US><F2475U7>

FC 250 2021 <2021><EU><F2101U1>

FC 450 2021 <2021><US><F2475U2>

FE 350s 2021 <2021><US><F2275U4>

FC 250 2021 <2021><US><F2175U1>

FX 450 2021 <2021><US><F2301U6>

FX 350 2021 <2021><US><F2201U6>

EU

us

EU

us

us

us

us

us

FE 350 ROCKSTAR EDITION 2021 <2021><ElEU

TX 300i 2021 <2021><US><F2401U5>

TE 300i 2021 <2021><EU><F2403U7>

FE 350 2021 <2021><EU><F2203U4>

FR 450 RALLY 2021 <2021><F2399U1>

FC 350 2021 <2021><US><F2275U1>

FR 450 RALLY 2021 <2021><F2399U1>

FE 501 2021 <2021><US><F2475U5>

us

EU

EU

us

us

TE 300i ROCKSTAR EDITION 2021 <2021><U US

TC 125 2021 <2021><EU><F2101U0>

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2021 FE 501s 2021 <2021><US><F2475U4>
2021 FC 450 ROCKSTAR EDITION 2021 <2021><U
2020 TE 150i 2020 <2020><US><F2175T9>

2020 FE 501 2020 <2020><EU><F2403T4>

2020 FE 501s 2020 <2020><US><F2475T4>

2020 FC 250 2020 <2020><EU><F2101T1>

2020 SVARTPILEN 701 2020 <2020><US><F2675T
2020 FE 350 2020 <2020><US><F2275T5>

2020 FC 450 ROCKSTAR EDITION 2020 <2020><U
2020 TE 250i 2020 <2020><EU><F2303T7>

2020 TX 300i 2020 <2020><US><F2401T5>

2020 FE 501 2020 <2020><US><F2475T5>

2020 FE 350 2020 <2020><EU><F2203T4>

2020 TC 250 2020 <2020><EU><F2301T1>

2020‘ FE 250 2020 <2020><EU><F2103T4> ‘
2020 VITPILEN 701 2020 <2020><EU><F2603T6>
2020 TC 125 2020 <2020><EU><F2101T0>

2020 FS 450 2020 <2020><EU><F2303T0>

us

us

us

EU

us

EU

us

us

us

EU

us

us

EU

EU

EU

EU

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

54804038000 Nut with flange M16X1,5

54804038000

54804038000

54804038000

WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2020 FC 450 2020 <2020><EU><F2401T1>

2020 FX 350 2020 <2020><US><F2201T6>

2020 FC 350 2020 <2020><EU><F2201T1>

2020 FE 450 2020 <2020><EU><F2303T4>

2020 FR 450 Rally 2020 <2020><F2399T1>

EU

us

EU

EU

2020 TE 300i JARVIS EDITION 2020 <2020><EU>< EU

2020 FE 350s 2020 <2020><US><F2275T4>

us

2020 SVARTPILEN 701 2020 <2020><EU><F2603T EU

2020 FR 450 Rally 2020 <2020><F2399T1>

2020 TE 300i 2020 <2020><US><F2475T7>

2020 TE 150i 2020 <2020><EU><F2103T9>

2020 VITPILEN 701 2020 <2020><US><F2675T6>

2020 FX 450 2020 <2020><US><F2301T6>

2020 TE 250i 2020 <2020><US><F2375T7>

2020 TE 300i 2020 <2020><EU><F2403T7>

2019 FE 350 2019 <2019><US><F2275S4>

us

EU

us

us

us

EU

us

2019 SVARTPILEN 701 STYLE 2019 <2019><EU>< EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2019 SVARTPILEN 701 2019 <2019><US><F2675S US

2019 SVARTPILEN 701 2019 <2019><EU><F2603S EU

2019 TE 250i 2019 <2019><US><F2375S7>
2019 TX 125 2019 <2019><EU><F2103S9>

2019 FX 450 2019 <2019><US><F2301S6>

2019 FE 250 2019 <2019><AU, GB><F2160S4>
2019 FE 450 2019 <2019><US><F2375S4>
2019 FE 450 2019 <2019><AU, GB><F2360S4>
2019 VITPILEN 701 2019 <2019><US><F267554>
2019 TC 125 2019 <2019><EU><F2101S0>

2019 FC 450 2019 <2019><EU><F2401S1>
2019 FE 250 2019 <2019><US><F2175S4>

2019 TE 300i 2019 <2019><US><F2475S7>
2019 FE 501 2019 <2019><EU><F2403S4>

2019 FE 450 2019 <2019><EU><F2303S4>

2019 FR 450 Rally 2019 <2019><EU><F2399S1>
2019 FX 350 2019 <2019><F2201S6>

2019 FC 250 2019 <2019><EU><F2101S1>

us

EU

us

AU, GB

us

AU, GB

us

EU

EU

us

us

EU

EU

EU

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2019 VITPILEN 701 2019 <2019><EU><F2603S4> EU

2019 FS 450 2019 <2019><EU><F2303S0>

2019 TX 300 2019 <2019><F2401S5>

EU

2019 FC 450 Rockstar Edition 2019 <2019><US><F US

2019 FC 350 2019 <2019><EU><F2201S1>
2019 FR 450 Rally 2019 <2019><EU><F2399S1>
2019 TE 300i 2019 <2019><EU><F2403S7>
2019 FE 350 2019 <2019><EU><F2203S4>
2019 TC 250 2019 <2019><EU><F2301S1>
2019 TE 150 2019 <2019><US><F217589>
2019 FE 501 2019 <2019><US><F2475S4>
2019 FE 501 2019 <2019><AU, GB><F2460S4>
2019 FE 250 2019 <2019><EU><F2103S4>
2019 FE 350 2019 <2019><AU, GB><F2260S4>
2019 TE 250i 2019 <2019><EU><F2303S7>
2018 FX 450 2018 <2018><US><F2301R6>
2018 FE 250 2018 <2018><AU><F2160R4>

2018 TX 125 2018 <2018><EU><F2103R9>

EU

EU

EU

EU

EU

us

us

AU, GB

EU

AU, GB

EU

us

AU

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2018 TE 150 2018 <2018><US><F2175R9>

2018 VITPILEN 701 2018 <2018><EU><F2603R4>

2018 FE 350 2018 <2018><EU><F2203R4>

2018 TE 250 2018 <2018><AU><F2360R8>

2018 TE 300 2018 <2018><US><F2475R8>

2018 TE 300i 2018 <2018><EU><F2403R7>

2018 FS 450 2018 <2018><EU><F2303R0>

2018 FE 250 2018 <2018><EU><F2103R4>

2018 FE 250 2018 <2018><US><F2175R4>

2018 FE 450 2018 <2018><EU><F2303R4>

2018 FE 501 2018 <2018><AU><F2460R4>

2018 FC 350 2018 <2018><EU><F2201R1>

2018 FE 450 2018 <2018><AU><F2360R4>

2018 FE 350 2018 <2018><US><F2275R4>

2018 VITPILEN 701 2018 <2018><US><F2675R4>

2018 FE 450 2018 <2018><US><F2375R4>

2018 TE 300 2018 <2018><AU><F2460R8>

us

EU

AU

us

EU

EU

EU

us

EU

AU

EU

AU

us

us

us

AU

2018 FC 450 Rockstar Edition 2018 <2018><US><F US

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2018

FC 250 2018 <2018><EU><F2101R1>

2018 TE 250i 2018 <2018><US><F2375R7>

2018 TC 250 2018 <2018><EU><F2301R1>

2018

FE 501 2018 <2018><US><F2475R4>

2018 TE 250i 2018 <2018><EU><F2303R7>

2018

2018

FX 350 2018 <2018><US><F2201R6>

FC 450 2018 <2018><EU><F2401R1>

2018 TE 250 2018 <2018><US><F2375R8>

2018

FE 350 2018 <2018><AU><F2260R4>

2018 TC 125 2018 <2018><EU><F2101R0>

2018 TX 300 2018 <2018><US><F2401R5>

2018

2017

2017

2017

FE 501 2018 <2018><EU><F2403R4>

FE 450 2017 <2017><EU><F2303Q4>

FE 350 2017 <2017><US><F2275Q4>

FX 350 2017 <2017><US><F2201Q6>

2017 TX 125 2017 <2017><EU><F2103Q9>

2017

2017

FE 350 2017 <2017><EU><F2203Q4>

FS 450 2017 <2017><EU><F2303Q0>

EU

us

EU

us

EU

us

EU

us

AU

EU

us

EU

EU

us

us

EU

EU

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2017 FE 250 2017 <2017><AU><F2160Q4>
2017 FC 250 2017 <2017><EU><F2101Q1>
2017 TE 300 2017 <2017><EU><F2403Q8>
2017 FE 450 2017 <2017><AU><F2360Q4>
2017 FC 350 2017 <2017><EU><F2201Q1>
2017 FE 250 2017 <2017><EU><F2103Q4>
2017 FE 250 2017 <2017><US><F2175Q4>
2017 FC 450 2017 <2017><EU><F2401Q1>
2017 TE 300 2017 <2017><US><F2475Q8>
2017 FE 501 2017 <2017><US><F2475Q4>
2017 FE 450 2017 <2017><US><F2375Q4>
2017 TE 250 2017 <2017><US><F2375Q8>
2017 TE 250 2017 <2017><AU><F2360Q8>
2017 TE 250 2017 <2017><EU><F2303Q8>
2017 TE 150 2017 <2017><US><F2175Q9>
2017 TX 300 2017 <2017><US><F2401Q5>

2017 ‘TC 125 2017 <2017><EU><F2101Q0>

AU

EU

EU

AU

EU

us

us

us

us

us

AU

EU

us

us

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2017 FE 501 2017 <2017><AU><F2460Q4>

2017 FE 501 2017 <2017><EU><F2403Q4>

2017 TC 250 2017 <2017><EU><F2301Q1>

2017 TE 300 2017 <2017><AU><F2460Q8>

2017 FX 450 2017 <2017><US><F2301Q6>

2017 FE 350 2017 <2017><AU><F2260Q4>

2016 FC 350 2016 <2016><EU><F2201P1>

2016 FE 501S 2016 <2016><US><F2475P4>

2016 FE 501 2016 <2016><EU><F2403P4>

2016 TC 125 2016 <2016><EU><F2101P0>

2016 FE 501 2016 <2016><AU><F2460P4>

2016 TE 250 2016 <2016><EU><F2303P8>

2016 FE 250 2016 <2016><EU><F2103P4>

2016 FE 250 2016 <2016><US><F2175P4>

2016 TE 250 2016 <2016><AU><F2360P8>

2016 TE 300 2016 <2016><EU><F2403P8>

2016 TE 300 2016 <2016><AU><F2460P8>

2016 FE 350 2016 <2016><EU><F2203P4>

AU

EU

EU

AU

us

AU

EU

us

EU

EU

AU

EU

EU

us

AU

EU

AU

EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03
Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2016 FE 450 2016 <2016><AU><F2360P4> AU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 TE 125 2016 <2016><EU><F2103P8> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FS 450 2016 <2016><EU><F2303P0> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 TE 250 2016 <2016><US><F2375P8> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 TE 125 2016 <2016><US><F2175P8> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 350S 2016 <2016><US><F2275P4> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 450 2016 <2016><EU><F2303P4> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 350 2016 <2016><AU><F2260P4> AU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 TC 250 2016 <2016><EU><F2301P1> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 TE 300 2016 <2016><US><F2475P8> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 350 2016 <2016><US><F2275P5> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FC 450 2016 <2016><EU><F2401P1> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 250 2016 <2016><AU><F2160P4> AU SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 450 2016 <2016><US><F2375P4> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FE 501 2016 <2016><US><F2475P5> us SWING ARM 54804038000 Nut with flange M16X1,5 Frame
WS=19 03

2016 FC 250 2016 <2016><EU><F2101P1> EU SWING ARM 54804038000 Nut with flange M16X1,5 Frame

WS=19 03

GASGAS - 910001601300

2023 MC 250F FACTORY EDITION 2023 <2023><L US PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame
2023 MC 450F FACTORY EDITION 2023 <2023><L US PRO LEVER LINKING 910001601300 Hex nut flange M16x1.5 SW19 Frame



GASGAS - 54804038000

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

EX 350F 2023 <2023><US><F0375W1> us

MC 250 BT 2023 <2023><EU><F0301W1> EU

MC 250F FACTORY EDITION 2023 <2023><L US

EX 300 2023 <2023><US><F0475W1> us

EX 250F 2023 <2023><US><F0275W1> us

MC 250 2023 <2023><EU><F0301WO0> EU
MC 125 2023 <2023><EU><F0101W0> EU
MC 350F 2023 <2023><EU><F0301W8> EU

EX 250 BT 2023 <2023><US><F0375W6>  US

EC 250F 2023 <2023><EU><F0203W9> EU

MC 250F FACTORY EDITION 2023 <2023><L US

MC 350F BT 2023 <2023><EU><F0301W9> EU

MC 250F IKD 2023 <2023><AR><F0242W5> AR

EC 300 2023 <2023><US><F0475W7> us
EC 300 2023 <2023><EU><F0403W7> EU
MC 125 BT 2023 <2023><EU><F0101W1> EU

RX 450F REPLICA 2023 <2023><F0399W1>

EX 450F 2023 <2023><US><F0375W2> us

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2023

2022

2022

2022

MC 250F 2023 <2023><EU><F0201W5> EU

MC 450F BT 2023 <2023><EU><F0301W6> EU

EC 350F 2023 <2023><EU><F0303W9> EU

EX 250F BT 2023 <2023><US><F0275W2> US

EX 250 2023 <2023><US><F0375W3> us
EC 250 2023 <2023><EU><F0303W7> EU
RX 450F REPLICA 2023 <2023><F0399W1>

EC 250 2023 <2023><US><F0375W7> us

MC 450F FACTORY EDITION 2023 <2023><L US

EX 300 BT 2023 <2023><US><F0475W2>  US

MC 250F BT 2023 <2023><EU><F0201W6> EU

EC 250F IKD 2023 <2023><AR><F0242W9> AR

MC 450F FACTORY EDITION 2023 <2023><L US

MC 450F 2023 <2023><EU><F0301W5> EU

EX 450F BT 2023 <2023><US><F0375W8> US

EX 350F BT 2023 <2023><US><F0375W4> US

EX 250F 2022 <2022><US><F0275V1> us
MC 125 2022 <2022><EU><F0101V0> EU
EC 250 2022 <2022><US><F0375V7> us

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

FRAME

SWING ARM

PRO LEVER LINKING

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



2022

2022

2022

2022

2022

2022

2022

2022

2022

2022

2022

2022

2022

MC 350F 2022 <2022><EU><F0301V8>

EX 250 2022 <2022><US><F0375V3>

EX 450F 2022 <2022><US><F0375V2>

EC 300 2022 <2022><US><F0475V7>

EC 300 2022 <2022><EU><F0403V7>

EC 250F 2022 <2022><EU><F0203V9>

EX 350F 2022 <2022><US><F0375V1>

MC 250 2022 <2022><EU><F0301V0>

MC 250F 2022 <2022><EU><F0201V5>

MC 450F 2022 <2022><EU><F0301V5>

EC 350F 2022 <2022><EU><F0303V9>

EX 300 2022 <2022><US><F0475V1>

EU

us

us

us

EU

EU

us

EU

EU

EU

EU

us

MC 450F TROY LEE DESIGNS 2022 <2022>< EU

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

SWING ARM

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

54804038000

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Nut with flange M16X1,5
WS=19 03

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame

Frame



